Hydraulus

SGP1 ﬁ%fﬂﬁ SGP1 gear oil pumps

= aﬁ

SCGP1ZRFIEGERE—MIMFE =R, ERTRAZRAFERERNGTSN, ERAREM. KR, REFENES. CHEERE

UL, SEERHLEL. DRRALEL. BITHRZTUr ZzRA, AHEEFREENMEERS.

SGPI series gear pumps are environmental friendly products with the features of low noise, smart structure and easy installation. The pumps are
widely applied in the industries of hoisting and conveying machinery, road machinery, environmental protection machinery, light industry machinery,

etc. The pump has been the first option accessory parts for variety of environmental friendly main equipment.

=. %A

(DSGPI Series
@£ 21 O R~ Mounting spigot diameter
—: 82000 A D82.5550s
C: @80 8o B: ©850E
BAMHEE (EAAD
Nominal displacement (mL/r)
19, 23, 25, 27. 30. 32, 36
@3l O4LE Position of ports
D.JZT# O Rear port
FME#RO (FE/EZEE) Side port (on cover rear)
AMERO (EFEELE) Side port (on body)
B);l O3 Port configuration
LSAEZX =m0 (RAETME
SAE flange port (side only)
FEH O Inlet: ©25; 52.4*26.2; 4-M10*1.25
il O Outlet: ©20; 47.6%22.2; 4-M10*1.25
2.GHB4L (JISB2351) [EIPFER&L
G screw thread (JISB2351) same as PF
30 Olnlet: G1
Hil O Outle: G1/2. G3/4

M, #4&&%E Performance parameters

SHA1—-L ™
@060 ® 0

3.UNFE224r UNF screw thread
S: MO Inlet M27*2 3RO Outlet M22*15
S1: (ABVHROE A0 EHEE)
S1 (A type port apply to the displacement of 30, 32, 36)
RO Inlet: M33*2 kO outlet:M27%2
9.4%% Special
©% ¥ 3% Mounting
H:7kF 75 [m 24 88 #2 70 26 Horizontal 2 bolts: 106
H1:7K 75 w124~ 4842 10 BB Horizontal 2 bolts:130
(D4h{ 75 3% Shaft type
1.SAE{E#E SAE spline: 16/32DP, % #{ Teeth No.: 13, 4€ Length:42
2EEEFE (HEEZEP20) Straight spline (dia. ©20)
5.SAE{E$E SAE spline: 16/32DP 5&] Teeth No.:10.€Length:33
H 5B 7E5E Rectangle spline: 6-20%16*4, {€Length: 70
HI. 3674 7E8 Rectangle spline: 6-20%16%4, 1€Length: 41.5
9.45%% Special
BN A B (3T ) Direction of rotation (from shaft end)
L:Z&KE Ci#RTEE) Left rotation (counterclockwise )
R:ABE (MRRTET) Right rotation (clockwise)
@1811/% S Code number

115

£ 51 Pressure

4 & Rotation speed

(38
Rl

SGP1 ﬁiﬁfﬂﬁ SGP1 gear oil pumps

Hydraulus

DZ!;hA Oil Portin Styel D

A1
14
52 49
30 | 25 6.5
- |
A \
e 7\ £5 :
==, H 4D
Ta<a—t U= .
3 7 Z??\:]':' %*é T 1
2 ZN #
i 8] N7 Himn -
Inlet & Outlet fﬁﬁl L
See “Shatend”
FEmHA0 ( Rear Port )
H &
Blacitcarnani 23 25 27 30 32 36
A1 117 118 122 124 128 132
AZEO Oil Portin Styel A
B
A
52 : 52 85
| A 4-M10x1.25
M [ ey
|mB | (D
o 2 }_(]_ o O O I =
. S —
2y - / | @ lsl—|-
[ ¢eF
50 “HEER (] ) -
See “Shatend” c1

MEHAO  Side Port )

e }ﬁcﬁﬁrﬁ% (Mpa) (r/min) Volumetric ﬁ_.E
Models displacement WE B BE W S Efficiency L Weight
mL/r) Rated Max Min Rated Max (=%) (kg)
SGP1-19 19 115.5 4.1
SGP1-23 23 118.5 4.3
SGP1-25 25 122.5 46
SGP1-27 27 20 25 600 2500 3000 92 124.5 4.8
SGP1-30 30 126.5 50
SGP1-32 32 131.5 54
SGP1-36 36 130.5 58
kst /01

o i 5 #3# 0 Inlet port #3000 outllet port
Displacement c1 c2 D c1 c2 D
30 64.3 124
32 66.3 128 26.2 52.4 25 22.2 47.6 20
36 68.3 132

kst /02



SGP1 ﬁﬁﬁfﬂ!ﬁ SGP1 gear oil pumps

FEmO Oil Port in Styel F

59 59 B
/ A
o 6.5
F A N
N T =5 o | sresmn
Eg J :]g ﬁg < /FlangaPort
- 8 gg = I
=1 “ i
\““‘L—\s}_. N
im0 —
— — S “wEpL"
4 Outlet Port See “Shatend”
Inlet Port
Displacement A B8
23 107.0 130.5
25 108.5 132
27 112.0 135.5
30 114.5 138
32 118.5 142.0
36 122.5 146.0
13 5 2: 42 Straight Spline
SAERRAE SAEFRAE
42 33
% #( No.of tooth 13 33 # % No.of tooth 10 %0 & ]
D.P.16/32 D. P. 16/32 i/m
&1 £ Pressure angle 30° . JE #1 & Pressure angle 30° :
C.P. 0. 1963" C.P. 0. 1963" = !
4 2 Over pin ida b 4% Over pin ida nEH b Mo
2 21.80 = @ 17.043 24 |- i i
@ 21.68 @16916 ! -
5 E1E Pin dia. © 18.63 #JEFZ Pin dia. ©13.86
H, HI: R L6 9: $ E # Special ord
70(41.5) - =
53(25) r g0
| | i 2 X
i - a3 Shaft end D b | L
. e
— Ll 2
l ] s s Z%hqigl 20 6 225 42
| i i i
| 0_16__ tralr%c;;p ine
(VAR HH1 S SRR~
kst /03

SGP2 ﬁﬁfﬂﬁ SGP2 gear oil pumps

—. #id

SCGR2RIIERFERFHEE A NMENBZEREFEHOMEEERE, RAZAREN; MRRBOUMK; WIS B
L B, REASEERSEME: hEEhERe, RERTEEEE. ATAZIRS S RAMEER. SHRETEM.

SGP2A series gear pump is external gear pump possessing axial clearance automatic compensation and radial hydraulic balance,adopting three
opening struture. The bearings are DU bearings and the side plate is bimetallic material. The front and rear covers, are made of aluminum accessory
with high strength.The middle part is consist of iron casting and the surface is covered with metal ceramic.All above improve the
performance,lifetime and reliability of the pump.

=. EE

(DSGP2 Series
@3%= 1E ARt Mounting spigot diameter

— ©3220%  Z:0]02 26

A:D82550 . B:® 10160,
GAMHR (BHAD

Nominal displacement (mL/r)

20.23.25.27.32.36.40.44.48.52
@MOLIE Position of ports

D./FM O Rear port

F@EHO (FEFZE L) Side port (on cover rear)
AMEHO (FERE L) Side port (on body)

G3m AR Port configuration

I SAER=im0 (REATI6LUTHS)
SAE flange port Conly for the displacement below 36mL/r)
MO Inlet: ©25; 52.4%26.2; 4-M10*1.25

A Outlet: ©20; 47.6%22.2; 4 -M10*1.25

M, #48% Performance parameters

2. GHE&L (JISB2351) [RPFEBEL
G screw thread (JISB2351) same as PF

#F38 Qinlet: G1

3.WHREL W screw thread

9455k Special
©%%E N Mounting

H:7kFEF5 (528842 F > 2B Horizontal 2 bolts: 106
H1:7kE 75 @2/ 8842 d 0 BE Horizontal 2 bolts: 130

D 53K Shaft type

HihE Outlet: G3/4

1.SAEFESE SAE spline: 16/32DPA54] Teeth No.: 13,4 Length:42
2. FREF (FEEZED20) Straight spline (dia. ©20)

9457 Special

@nEsE A (3hiKF ) Direction of rotation (from shaft end )
L:ZAHE G¥BTEL) Left rotation (counterclockwise)

R:&BE (MABTE) Right rotation (clockwise)

@&t 55 Code number

¥ i# Rotation speed

EAhep
ns Luas CMpad s #ROES X2
Models displacement T = =if BE
mL/r Rated Max Min Max Mpa (kg)
SGP2-20 20 4.9(4 4)
SGP2-23 23 5.1(4.6)
SGP2-25 25 5.3(4.8)
245 294 3000
SGP2-27 27 5.4(4.9)
SGP2-36 36 5.9(5.3)
SGP2-40 40 226 275 3000(2500) 6.1(54)
SGP2-44 44 2086 24.5 6.3(5.6)
SGP2-48 48 18.6 22,6 6.6 (5.9)
3000(2500 —
SGP2-52 52 17.2 20.6 ( ) 6.8 (6.1)

kst /04



SGP2 ﬁﬁﬁfﬂ!ﬁ SGP2 gear oil pumps

SGP2 53R scr2 gear oil pumps

&, MERTE
SGP2-XXF1HX-LXXXX L1 &b
L2 B TR
R475
4-M10 SRREIED
w22
e T Lk
S N B = 2 s il
BRCE o Smmii
\ i . z
L & % i
o~ i
26.240.3 ‘\'—ﬁ ==
106 @25
130 ;':210 N
st ~ . g
i oAk
. ‘ &
Y
30.2+0.3
@32
61 60 . RERTAEE0
SGP2-XXA1THX-LXXXX
R47.5 65
B AN
SRRELN
|
..i_.-_._ 4-M10
: - [ &2

ksT /05

F: RERFaE+1.0

im0 32 /

R47.5

SGP2-XXD2HX-LXXXX

SAETFF £k 1L 5246 (i

@ 18.63max

0
@21.806 3 1,7

L 65 sRMERK
] n
1 A i I L .
i | L [
B e
-
| ; —
E |
o
' SRR
AR L1 L2 L3 L4
20 140.9 99.6 107.4 52.8
23 143.9 102.6 1104 54.3
25 1459 104.6 112.4 55.3
27 147.9 106.6 114.1 56.3
3z 152.9 111.6 1194 58.8
36 156.9 1156 123.4 60.8
40 160.9 1196 127.4 62.8
44 164.9 123.6 131.4 64.8
48 168.9 1276 1354 66.8
52 1729 1316 139.4 68.8
i RiEFERTRELFIO
w O 13
] 16/32
£ 30°
BEHIE | 24.819~24.891
EH#ERE ©3.048
HORIE
FmORRK | HmOmik ‘
hiEdENm | FER®E | FEME
32 ®25  |AR#EINLE|  — 0O
®25 »19 NERHEE27~36 o AFRHEE20~36
G1 G1/2 — O @)
kst /06



